Solvency Ratios

CURRENT RATIO =Current assets   = 111,300     2:7.1
                                Current liabilities   = 41,000

This ratio means that they can meet their liabilities well and twice over.

ACID TEST= Current assets – stock = 111,300 – 35,000     1.9:1
                          Current liabilities     =             41,000

The acid test indicates if a firm has enough short term assets to cover its liabilities, for every £1 of current liabilities to business has enough to cover its current assets

Profitability Ratios

GROSS PROFIT PERCENTAGE= Gross Profit x 100 %= 253,000 x 100 =     50.5%
Turnover                 500,700

Every £1 of sales gives 50p worth of gross profit and this tells us that HS Suppliers are doing reasonably well in terms of profit because of the 50% earned

NET

PROFIT PERCENTAGE=       Net Profit x 100% =     71,500 x 100 =14%
                                                                Turnover                 500,700

Every £1 of sales generates 14p in terms net profit

RETURN ON CAPITAL EMPLOYED

Net profit x 100% = 71,500= 22.5%
Capital employed     317,500

This percentage means that the business uses £1 to create 23p in profit.

PERFORMANCE RATIOS

ASSET TURNOVER

Sales               500,700 = £1.58: £1 of net assets
Net assets       317,500

This shows us the company’s efficiency and use of generating sales

STOCK TURNOVER

Sales   500,700
Average stock       34,000

Stock is turned over 14.7 times per year

DEBTOR’S COLLECTION PERIOD

    47500 x 365 = 35 days   Ratio= 34.62

500,700

This tells us how long the business has taken to collect debt.
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